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General Instructions :
Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics
1. The 45° line in Keynesian economics indicates . 1
(Choose the correct option to fill in the blank)
(A) Income > Consumption (B) Savings > Investments
(C)  Consumption > Income (D) Income = Consumption

2. Aggregate expenditure in the economy during an accounting year is also
known as . (Choose the correct option to fill in the blank) 1
(A)  Autonomous investment (B) Aggregate supply
(C)  Aggregate demand (D) Induced investment

EEE
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3.  THfcRad sori ol eaMYee STeag i :

FI9 1 G AR G © qeqd, s ofsh g1 TR Tiaqfadi (G-Sec)
ERICEREES

FYT2 :  HA A B HH FA 6 A, g ok anforisaen St w1 awehr
BIEEIRRIRCER YN

faw T sherT o 3TTedies W, Ffefaa # @ gt foshed o1 ==a hifsie

(A) T 19T g AN FHIAT2 A€ |

(B) o 1AL INFIT2HAR |

(C) o 13R23A TAT |

(D) A 1 3N 2 3H A2 |

4. €W 3TN TG (MPC) % Hel o ST ST SRIAT ST ¢ |
(fh T 9 o Toru wet fashed &t =@ ShifsTo)
(A) ddd
(B) 39
(C) 3IUred
(D) T

5.  OH AT, SuiT B fem e R
C=205+09Y 2 (SR C =%t IUIT AR Y = T 3H)

forereT o (K) o1 9 &I |

(Feeh T s = fore wieh feorered &1 = ifTg)
(A) 009 (B) 100
) 09 (D) 90

6.  MUSI el ohl TG GsTeh hal ST &, FIT(h :

(@& fashea 1 == Fifs)
(A) o S o it s © |
(B)  Soh gRT Y SROT STHT T3 3¢~ hid & |
(C) TWHRF A o &Y H HE Hd 8 |
(D) o refea®r # kT <T i fafafig wa € |
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3. Read the following statements carefully : 1

Statement 1: Open Market Operations refers to purchase/sale of
Government Securities (G-Sec) by the Central Bank.

Statement 2 : To decrease money supply, Central Bank will sell the
Government Securities to commercial banks.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D)  Both Statements 1 and 2 are false.

4., Marginal Propensity to Consume (MPC) exhibits the slope of
function. (Choose the correct option to fill in the blank) 1

(A) Saving

(B) Consumption
(C) Production
(D) Cost

5. Suppose, the consumption function is given as : 1

C =205+ 09Y (where C = Total Consumption and Y = National Income)
The value of Investment Multiplier (K) would be
(Choose the correct option to fill in the blank)

(A)  0-09 (B) 100
C) 09 (D) 90
6. Commercial banks are regarded as money creators because : 1

(Choose the correct option)
(A)  they purchase securities from the Central Bank.
(B) loans provided by them create deposits.
(C) they act as a banker to the government.

(D)  they regulate the lending rate in the economy.

58/7/2 # 5| Page P.T.O.
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7. Twfafiad swoEl — s (A) RFRT (R) 1 SaHYEe Seadd i | i< fou

T foreredt 1 @ Gel forehed o1 = i
AfypyT (A) Tt Tt St gro foesft shufaet =t Yo it S areft g
(shipping) el &I YA Hde (BOP) % <Te] @id H &t fohaT

ST |
FR (R) : WA Eqe (BOP) T =1e] WIAT W o e #ht aferdfr=t
7 i Y feorfa § uftagda adf aar =

%I?WCI‘:

(A)  3IfEReH (A) T FROT (R) SHT T 8 3 &R0 (R), AfR (A) &t Ol
TS |

(B)  AMHIT (A) 3T FRT (R) ST T 8, AfehT SROT (R), AR (A) it G&t
T T & |

(C)  JAMHRIT (A) T =, kT RO (R) IR |
(D)  3AMHRIT (A) 318 8, Afehd T (R) IR |

8.  YRdH ST TR o fehe SR AT 2 |
(ke T s o fore @it forered &1 = if)
(A)  HUNIH sk
(B) YR fisd S&
(C)  dfurfsaeh sieh
(D) YRAT T I
9.  IUASY FAT hT UFNT Ld g, FrAfetRad dqrietsht sl qur shifS :
CHAEETREIEPERCAISIY
2014 — 2015 | 2016 — 2017
Mfse GDP 65 9
redfas GDP o 7.2
GDP &k 100 ().
e :
(A) 125, 100 (B) 125,110
(C) 65,125 (D) 100, 65
[=]#% =]
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7. Read the following statements — Assertion (A) and Reason (R) carefully.
Choose the correct option from those given below : 1
Assertion (A) : Shipping service provided by an Indian company to

foreign companies will be recorded in current account of
Balance of Payments (BOP).
Reason (R): Current account of Balance of Payments (BOP) does not
alter the status of the asset or liabilities of the residents of
India.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
8. releases data of money supply in India. 1
(Choose the correct option to fill in the blank)
(A)  Corporation Bank
(B)  Reserve Bank of India
(C) Commercial Banks
(D) State Bank of India
9. Using the given information, complete the following table : 1
(Choose the correct option)
2014 — 2015 | 2016 — 2017
Nominal GDP 6-5 9
Real GDP (D) 7-2
GDP deflator 100 .G,
Options :
(A) 125,100 (B) 125,110
(C) 65,125 (D) 100,65
EEE
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10.  HfARad et s eayesh sTera HIfe ;
FY9 1 FA A GHH B W, el 721 s hied SR gEehl 7iT o sft< ehricHe
ey 2 |
FHo 2 - Tl faftm o ue 2o it STaisdiar oITsiil & 57 91f<k ot S3id © |
faw T et o 3TTeties |, Ffefaa § @ gt foshed o1 =a hifsie

(A) FIF 1T INFHIT 2 JAGT ¢ |

(B) 9 13T IEINFAT2dT2 |
(C) HIT 13N 2IA IR |
(D) YA 1 FAR2 S FAAIE |

11. (&) = fafer gro a3 ot SA1ehetT hid a0 sidl ST et fohmel &t amaet==i

I IeAfad FINT T qHSET |
TAaT
@) HEfafad sttt o frehl’ o Fear st T I
il fararuT i .
qe&q (TG T)
i) | 39eH 300
(1) | ST AT 600
(iii) | IRTF € 120
(iv) | 3ifad i 520
(v) | weat SuenT 2,900
(vi) | et sft st Susm 600
(vii) | <Y 700
(viii) | |TeH AT WY& e I (NVARc) 2,200
O[O0
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10. Read the following statements carefully :

Statement 1 :

Statement 2 :

Keeping other things constant, there exists positive

correlation between the price of foreign exchange and its

demand.

The foreign exchange rate indicates

purchasing power in international markets.

a country’s

In the light of the given statements, choose the correct option from the

following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
11. (a) State and explain any two precautions that must be taken while
estimating national income by expenditure method. 3
OR
(b)  Calculate the value of ‘Sales’ from the following data : 3
S. No. Particulars .Amount
(in < lakh)
(i) Subsidies 300
(i1) Operating surplus 600
(iii) | Opening stock 120
(iv) | Closing stock 520
(v) Intermediate consumption 2,900
(vi) | Consumption of fixed capital 600
(vii) | Profits 700
(viii) | Net Value Added at Factor Cost (NVAprc) 2,200
58/7/2 9| Page g@g P.T.O.



12. = few g fom & quiie o, shsfiar S o foret uen o shl ue= shifsie o gwese 3

qie :  HETRad 394 Fad giteariera qhgieral & 1o7q So7 & 12 % €M W e |
g1 Sioh o ToRET Teh 1Y shl SATEAT hIfSTT | 3
18. (&) “fordll srefogeren § yenfy s (1), s s=@ (S) A HA R 1

& 718 TR o 3T, USTTR o ST 9 EHTferd THTal shi SITeaT ShifsTe | 3
@) AW T IR i | 1

14,  “foret srefeeen 0 uehifaert faua it Ruafd 1 g€ = ¥ A1felT 3Tavgeshard

T g Bl & |7
few TTT e =T, AT ekt wfed e fag Fifew | 4
15, (&F) () YT e o SR e | fave Fifse | 3
(i) =] @A TR hi GReTie hifsry | 1
CPe))

@) () SUIH 3| I SYAR FA g, T foaaRht Fewr (FDI) 9 faeeh
HEITTT AT (FIT) § 3R T i | 3

(i1) ‘?TSﬁ WId & U2 o ®9 H fIenit ¥er™ar (External Assistance) &
Tordll U SeTETUT T 3ot HIfST | 1

[=] %]
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12. Identify and explain any one function of Central Bank as indicated in the
image given below : 3

FUNCTIONS OF RESERVE BANK OF INDIA

Note : The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 12.
Explain any one function of Central Bank. 3
13. (a) “In an economy ex-ante investment (I) is less than ex-post
savings (S).”
Explain the likely impact of the given situation on output,
employment and income.
(b)  Define deficient demand. 1

14. “Margin requirements are extremely helpful in correcting the situation of
deflationary gap in an economy”.

Justify the given statement with valid arguments. 4
15. (a) (1) Distinguish between Balance of Payments and Balance of
Trade. 3
(i)  Define Current Account Surplus. 1
OR
(a) (1) Using suitable example, distinguish between Foreign Direct
Investments (FDI) and Foreign Institutional Investments
(FID). 3
(ii)  State one example of External Assistance as a component of
capital account. 1

58/7/2 # 11| Page gﬁ P.T.O.



16.

17.

@) () O T Had U T § HH Bl © |
1 AT foT TT e & GEAd & ? 3T I o GHAA H AT doh T
IS |
(i) 3WIFd ISTEN Hied, UTcH STRIAIHAT o RUMTcHs STl § 3HaT

e Hifsru |

YT

@) () Tk Tg-gme reforaen #, Tewel gRI AT T SUIT = gid wAT
SR ICATIAT SEqAT o YISl TR g THY 4 o SR BT 8 |7
T 37T 4T T e | TEHA & 2 39 It o GHH | I SITAT ST |
(i)  “GTEd TOMT GHEAT o R et STefeeee | 3eqTed I SIHM HfUH
ST |
U IATEXTT shl HETIAT W, € 7 e 1 Hifwiey forg Ffsie |

FTRerd Ter T AT TR i

FE IS 2025-26 H G&H, I 9 weAd 3TH (MSME) & i 436 s % 339 §
3 U T4 T U 2 | 78 Y, et o i o wrer-ere W Sl forsh A H
MSME =l qfHehT ! T THE §oH o &9 H AT 3dT 2 |

R o ATenfirer afged # vk eyl FeHeRal o &9 § MSME &, fafmfor &7,
forater o Ao ot & et syfirehT frmar 2 |

U ISET T T 363 TR T TIedTiRd shich, STaeaeicaehdl § gig lh al
HHTEHAT T sIgdt U gHIRed ek, T §gG 19 I (I AT 2 |

5qeh JTATIT 3UH US{RT Ui, PM fawashut, PMEGP, SFURTI d9T @asii-eh

3 fifd St TR i faem ggdt 1 MSMEs &1 Tehishd o |9Tad o sl foum &
T Y ST ! 3 Rid AT ST 3@ 8 |

few U e 3 9= I % AR ) fAEtafad g o o N

(®F) “MSMEs 9Rd & forshre ae § Aeweyqul fHert fwrd & 17 @ 319 fag g
Y Y HEHA & ? 3 I o GHelT H 7= doh T shiTST |

(@ MSMEs %l @& i & (Y @R gRI 3STT T JqE 39T i sgreaT
s |
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16. (a) (1) “Domestic income is always less than national income.”
Do you agree with the given statement ? Support your

answer with valid arguments. 3
(i1))  Distinguish between positive externalities and negative
externalities with suitable examples. 3
OR
(b) () “In a two-sector economy, consumption expenditure by

households is always equal to aggregate expenditure on
goods and services produced by the firms.”

Do you agree with the given statement ? Support your
answer with valid explanation. 3

(ii)  “Problem of Double Counting leads to overestimation of
output in an economy.”

Justify the given statement with the help of suitable
example. 3

17. Read the following text carefully :

The Union Budget 2025-26 introduces a series of measures aimed at
strengthening the Micro, Small and Medium Enterprises (MSME) sector.
It recognises the role of MSMEs as one of the key engines in India’s
journey of development, along with agriculture, investment and exports.

As a vital contributor to India’s industrial landscape, the MSME
sector plays a crucial role in manufacturing sector, exports and
employment generation.

The new budgetary provisions aim to build on this strong foundation
by fostering innovation, enhancing competitiveness and ensuring better
access to resources.

Furthermore, the Government’s ongoing initiatives like Udyam
registration portal, PM Vishwakarma, PMEGP, SFURTI, and the Public
Procurement Policy continue to demonstrate a combined effort towards
integrating and empowering MSMEs.

On the basis of given text and common understanding, answer the
following questions :

(a) “MSMEs play a pivotal role in the India’s journey of development
Do you agree with the given statement ?” Give valid reason in
support of your answer. 3

(b) Explain key measures initiated by the Government for
strengthening MSMEs. 3

58/7/2 # 13| Page g@g P.T.O.
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TR aArfefer farermar
18. Wi <ifoe fop, forelt sreferereen # faafird siferent st qetT | STrepfénen siffrent o wfdsrd
TG et g
7o fearfa = ke % &Y § ST ST Gl § |
(Feara T Y & foTe w@t fashed a1 = hifso)
(i) o=
(i)  SAHIATT (casualisation)
(i) -SSR
oreeu
(A) () ARG (B) (i) 3R (i)
(C) = (i) (D) e (i)
19. & o fokar o SR, BT o fodi H, WG § s1el Y1907 S5d 6206 &l T © |
(Feert T o1 o fore wieh ferered &1 = ifg)
(A FHN (B) 3dEd
(C) AT ekt (D) fomior
20. SR Frehl H € T &, T orfered ™, Wi o =9 € s7oft 2 |
(T T v & Tofe Bt farshed =1 = hifsie)
(A) el (B) TS
(C)  SHEEAT ¥ (D) iR S1aTd
21. SRISATHY  foreft ifier <At Himia ScaTashl 31 o ek Bl & |
(Fear o s o fore wiet fashey o1 == ShifsT)
(A)  Hradt (B)  HI=HTcHh
(C) Ffs® (D) =B

[=] %]
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SECTION B
Indian Economic Development

18. Suppose the percentage of casual workers rises in an economy as
compared to the regular workers.
This situation may be known as of workforce. 1
(Choose the correct option to fill in the blank)
(1) Formalisation
(ii))  Casualisation
(i1i)) Unemployment
Options :
(A) (1) and (ii) (B) (i) and (iii)
(C)  only (ii) (D)  only (i)
19. Outsourcing from India has become more intensified in recent times due
to the expansion of the sector. 1
(Choose the correct option to fill in the blank)
(A) Agriculture (B) Manufacturing
(C) Information Technology (D)  Construction
20. is one of the demographic indicators in which Pakistan is
ahead of India and China. 1
(Choose the correct option to fill in the blank)
(A)  Urbanisation (B)  Fertility rate
(C)  Population density (D) Sex ratio
21. Under unemployment the marginal productivity of a worker
is equal to zero. 1
(Choose the correct option to fill in the blank)
(A) Seasonal (B)  Structural
(C) Involuntary (D) Disguised
EEE
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22. BT H, MG A &5 F AT TRl § § 0 o Rt e st wster
J STeerdr sl o | (Fera T A & foTe w@t farshed a1 = hifso)
(A) SAARC B) GS8
(C) ASEAN (D) G20
23.  STYFHIN Uk Hewequl ATl (e 3eva &, st T hf-gd BT e |
(Feara o s o fore wiet fashea &1 == ifs)
(i) T TR A
(i) TR gIEehIvT H HehRIcHeh TR o
(i) 3T T Guf o FHH ferawor
(iv) W%W@
IR
A) Q) AR (v) B) () AR (ii)
©) @), (i) 3R (v) D) () AR (i)
24,  THTIREd ol =l LAY g T :
HYT ] ;A S o A1 TGN ol HHEAT oh GHTEH B WA GTHR A s Fgyor
fRI0T 1€ (CPCB) 3T TToAT T off |
FYgT 2 : aﬁaﬁmﬁwﬁﬁaﬁ (indigenous forests) T T} oA BT 8 |
e T Tt o aATetes W, FAfiad # @ 9t faenea o1 w9 Fifse
(A) FF 19T AR FIYT 2 A S |
(B) 99 13MAEANHIT2 AL |
(C) Y 13N 2T TAE |
(D) YT 132 HI T & |
25. et oft srefeyaten o U & Sfiu=ie &8 O Uaifdg ergeq faRiwar 6 ueem
I |
CHAEEIREAEPECAISIY|
(A)  USTTR geed (B) WIS GUaf ard
(C) AR e (D) fAfeawrise
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22. Recently, India hosted and chaired the summit of one of the
regional and economic groupings. 1
(Choose the correct option to fill in the blank)
(A) SAARC (B) G8
(C) ASEAN (D) G20
23. Modernization is an important economic planning objective that focuses
on . 1
(Choose the correct option to fill in the blank)
(1) Adoption of innovative technology
(ii))  Bringing positive change in social outlook
(iii) Equal distribution of income and wealth
(iv)  Abolition of intermediaries
Options :
(A) (i) and (iv) (B) (1) and (iii)
(C) (1), (111) and (iv) (D) () and (i1)
24. Read the following statements carefully : 1
Statement 1: In order to address the problem of water and air
pollution in India, the Government of India had
established the Central Pollution Control Board (CPCB).
Statement 2 : Deforestation leads to the permanent destruction of
indigenous forests.
In the light of the given statements, choose the correct option from the
following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
25. Identify, the incorrect feature associated with the formal sector of
employment in any economy. 1
(Choose the correct option)
(A)  Job security (B)  Social security benefits
(C)  Irregular payments (D) Fixed working hours
58/7/2 # 17| Page Z43 P.T.O.



26. TR N Futfd =aw wweis g (MSP) &1 7 arvreff BT e |
(Feeh T A 6 foTu Wt forehed =1 =M i)
(A) =S (B)  SOwIeT
(C) =ATITH (3haT) (D) F9F
27. UEAH it b, FfaRad 5 @ -6 fifaes O 1 o foevar 787 2 |
CHAEEIR EAEPEE IS
(i) ¥ (Tangibility)
(i) =YX AT (Tradability)
(iii) fERar (Immobility)
forepeT :
(A) (1) I3 (B) (1) 9 (ii1)
(C) (D) (ii) (D) (@), (i) 9 (iii)
28. %D TUMMEGHAT T deh & foh -
“1991 % 3ATfeh ol % UL NNk & o G &M % fIg Jzieor 4w
S e e |
faw 1T e =1 e g et o ToTT 310 o e i |
29. (F) “hs rfIREAT 1 AT © TR, Wi 3 forfer sftemmfientor o forw Seht dweR
3TN T T W HIHd IS 2 |7
foreft wen e ek g fow e e ot St fag Fifsi |
YT
@) fsfesr e & SR IRa | €t i % e s SIS Jed i
B
30. (%) 1950 — 1990 o WeA TTH I o HLEUT I Hefeid o [oTq R TN gRT 331
U foheel 3T haHT T St I ST ShiTSIT |
AT
(@) VR sl FISHT SFAM 6 SR HIY &5 § TEIRTd GaR 6 &9 H i Gl 6
VIfereRT 2T forea™ & o1 hifer |
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26. Prime beneficiary of the Minimum Support Price (MSP) fixed by the
government is
(Choose the correct option to fill in the blank)
(A) Labourer (B) Consumer
(C)  Trader (Buyer) (D) Farmer
27. Identify, which of the following is not a feature of physical capital.
(Choose the correct option)
(i) Tangibility
(i1))  Tradability
(iii) Immobility
Options :
(A) (1) and (ii) (B) (i) and (iii)
(C) (i) and (iii) (D) (@), (i1) and (iii)
28. Some economists argue that :
“Post-1991 economic reforms, globalisation played a major role in poor
performance of the industrial sector.”
Present your arguments to justify the given statement.
29. (a) “Many economists believe that India paid a very heavy price for
the British industrialisation, by becoming their feeder economy.”
Justify the given statement with any one valid argument.
OR
(b)  Critically appraise, infrastructural development in India during
the British rule.
30. (a) State and explain any two steps undertaken by the Government of
India for the protection and promotion of Small-scale Industries
between 1950 — 1990.
OR
(b)  Elaborate the role of land ceiling as an institutional reform in
agricultural sector during the planning period of India.
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31.

Note :

32.

33.

Compare and analyse the following information related to distribution of

employment in India : 4
Distribution of Employment (Male-Female)

v in Different Sectors
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Male Workers

The following question is for the Visually Impaired Candidates only,

in lieu of Q. No. 31.

“Compared to urban women, more rural women are found working.”

Justify the given statement with valid explanation. 4

Female Workers

Argue in favour of the need for different forms of government

intervention in education and health sectors. 4

Read the following text carefully :

The National-Level Multi-State Cooperative Society recently
approved by the Union Cabinet for promoting organic production and
exports, will help the farmers to increase their income manifold.

The arrangements for testing of land and selection of natural form of
products will be set up in each district in the coming five years.

Government has also decided to setup a cooperative society in all
Panchayats, which will ensure that the Central Government’s schemes
reach the farmers.

Wide use of urea has spoiled farm land, and lakhs of farmers have
moved towards organic farming.

To get better prices, there is a need for marketing and certification
of such produce. Furthermore, steps must be taken to ensure that fake
organic products do not hit the market.
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On the basis of given text and common understanding, answer the

following questions :

(a)

(b)
(c)

Define organic farming.

State any two benefits of organic farming.

Explain the steps taken by the government to promote organic

products.

34. (a) () Explain any two similar developmental strategies followed by
India and Pakistan in post 1947 era.
(i1) State and discuss any two reasons for slow economic growth
in Pakistan.
OR
(b) (i) “China used the tool of Special Economic Zones for its
economic development very effectively.”
Justify the given statement with valid explanation.
(i1) Mention and discuss any two indicators of human
development, where China has performed well.
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